





Kleenex[®] Hard Roll Paper Towels (50606) with Premium Absorbency Pockets, 1.75" Core, White, 600'/Roll, 6 Rolls/Case, 3,600'/Case

50606

Features & Benefits

Kleenex® (formerly Scott® Essential Plus) provides reliable balance of efficiency, performance and value. Drying is one of the most important steps in the hand washing process, and how you dry matters. Forced air dryers and hot air dryers can take two or even three times as long to use as a paper towel, and studies show that, while the overall cost per use is comparable, the likelihood of spreading germs is greatly reduced with the use of absorbent, single-use drying towels, such as white Kleenex® Hard Roll Paper Towels. Germ counts are significantly lower following the use of a touch-free paper towel dispenser (like the compatible Kimberly-Clark Professional[™] Hard Roll Paper Towel Dispenser)—as much as a 200% decrease when compared with using either jet or hot air dryers. And, rather than blowing germs into the air during use, the paper towels are thrown neatly away. These paper towel rolls offer terrific hand drying performance, so your guests will waste less. A healthy workplace is a happy workplace, and providing highquality Kleenex[®] Hard Roll commercial paper towels to your guests, clients and employees is one important piece of the puzzle.

- Kleenex[®] paper towel rolls give soft feel with the premium performance of commercial paper towels
- Absorbency Pockets absorb lots of water fast for superior hand drying performance, so guests use fewer paper towels
- Paper towel rolls: 1.75" core size and 7.9" roll diameter
- Compatible with a variety of Kimberly-Clark[™] paper towel dispensers

Product Details

Brand:	Kleenex®
Size:	8.0" x 600'
Color:	White
Pack 1:	6 Roll(s) / Case
Pack 2:	600 Feet / Roll
Pack 3:	3600 Feet / Case
RF Content:	50%

🕸 Kimberly-Clark PROFESSIONAL[™] [†] Please reference above for all applicable Certification/Standards.





Meets EPA standards for minimum post-consumer waste content: towels 40% bathroom tissue 20%. facial tissue 10%





10

All names, logos and trademarks are the property of Kimberly-Clark Worldwide, Inc. Copyright 2015 KCWW, All Rights Reserved. Your visit to this site and use of the information hereon is subject to the terms of our Legal Statement. Please review our Privacy Policy.





Kleenex[®] Hard Roll Paper Towels (50606) with Premium Absorbency Pockets, 1.75" Core, White, 600'/Roll, 6 Rolls/Case, 3,600'/Case

50606

Related Products

	Description	Code	Color
	Kimberly-Clark Professional™ Electronic Paper Towel Dispenser (48857) Smoke (Black) 1/case	48857	Black
*	Kimberly-Clark Professional™ Electronic Hard Roll Towel Dispenser, White, 1.75" Core Size	48856	White
Concerns 09996 	Sanitouch Hard Roll Towel Dispenser	09996	Black
Ogg95 Sentence for the flat	Kimberly-Clark Professional™ Sanitouch Hard Roll Towel Dispenser	09995	White
	Kimberly-Clark Professional™ HACCP Conversion Kit	09997	Black



[†] Please reference above for all applicable Certification/Standards.



EPA Meets EPA standards for minimum post-consumer waste content towels 40%, bathroom tissue 20%, facial tissue 10% NSF Certified



All names, logos and trademarks are the property of Kimberly-Clark Worldwide , Inc. Copyright 2015 KCWW, All Rights Reserved. Your visit to this site and use of the information hereon is subject to the terms of our Legal Statement. Please review our Privacy Policy.





Kleenex[®] Hard Roll Paper Towels (50606) with Premium Absorbency Pockets, 1.75" Core, White, 600'/Roll, 6 Rolls/Case, 3,600'/Case

50606



Kimberly-Clark Professional Small Core Spindle

49207 White



[†] Please reference above for all applicable Certification/Standards.



EPA Meets EPA standards for minimum post-consumer waste content: towels 40%, bathroom tissue 20%. facial tissue 10%





All names, logos and trademarks are the property of Kimberly-Clark Worldwide , Inc. Copyright 2015 KCWW, All Rights Reserved. Your visit to this site and use of the information hereon is subject to the terms of our Legal Statement. **Please review our Privacy Policy.**





Kleenex[®] Hard Roll Paper Towels (50606) with Premium Absorbency Pockets, 1.75" Core, White, 600'/Roll, 6 Rolls/Case, 3,600'/Case

50606

Product Variations

	Description	Code	Color
0080 mana 1800 1800 1800	Kleenex [®] Hard Roll Paper Towels (01080) with Premium Absorbency Pockets, 1.5" Core, White, 425'/Roll, 12 Rolls/Case, 5,100'/Case	01080	White
e 11090 Series Mare	Kleenex [®] Hard Roll Paper Towels (11090) with Premium Absorbency Pockets, 1.5" Core, White, 600'/Roll, 6 Rolls/Case, 3,600'/Case	11090	White



[†] Please reference above for all applicable Certification/Standards.



EPA Meets EPA standards for minimum post-consumer waste content: towels 40%, bethroom tissue 20%. feciel tissue 10% NSF Certified



10

All names, logos and trademarks are the property of Kimberly-Clark Worldwide , Inc. Copyright 2015 KCWW, All Rights Reserved. Your visit to this site and use of the information hereon is subject to the terms of our Legal Statement. Please review our Privacy Policy.